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E50 Series

FoE% B85

<2, QK] 2™, K, S, 2| ZFof| X oy E50S8-[- E50S8-[1- E50S8-[1- E50S8-[1-
O-T-0-0 O-N-00-01 O-v-0-0 O-L-0-0 A

- Tl ®Meh 5 VDC==, 12 - 24 VDC= 5% 2hs 1/2/5PPR”
10 ~ 8,000 PPR 2

Hof = Totem pole £ NPN @Z 225 =2 et =2 Line driver =2}
= A A B, Z A B, Z A B, Z A A BB, ZZ
FYHF <30 mA <30 mA - <20 mA
Fhz et <0.4VDC= <0.4VDC= <0.4VDC= <05VDC=
RENT <10 mA - <10 mA <-20mA
=Y > (M@ Heh-2.0) - - 2 25VDC=
(5 VvDC= VDC==
2 Hlgt > (HEl FL-30) - - = (%9l Fe -30)
(12 - 24 VDC=) VDC= VDC=
SeaE 2 <1us <05 us
2o} S Foke 300 kHz
A|Ch 312 8|74 5,000 rpm
ol CE A CE A CE I CE€ B

01) mlof Z2{oil wet A, B & EE A, A, B, B AEF S22

02) Hi4 Z0[: 2 m, | sink: 20 mA 7|&

03) A/tH 818 3174 = AT} ST 2|34 T7H0| HEE Sof5S HESHIAIL.

(200 8 2 (pm) = SESBERE 60 geqy

e ] =H HiMelEY SHHiMeIE HUEY =H HUHY =8 AHUHY
IS Ea <0.007Nm <0078Nm
2y 2HE <80 g-cm’ (8 x 10° kg'm?) <400 g-cm’ (4 x 10° kg'm?)
=32315 Radial: < 10 kgf, Thrust: < 2.5 kgf
A B2 (Z3) =~ 2759 (= 363 g) =180 g (= 268 g)

5VDC= % 5% (ripple P-P: = 5%) /
12 - 24 VDC= * 5% (ripple P-P: = 5%) 2&!

Totempole, NPN 2 Z3|E{, Heh 2 < 80 mA (F53})
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2H HF Line driver £3: < 50 mA (253t

HA X3 TEERRQL #Hl0|AZE: = 100 MQ (500 VDC= megger)

LiFet TR} #|0|AZF 750 VAC~ 50 / 60 HzOllA 122

Lizis 10 ~ 55 Hz (F7] 122 STZ1.5mm X, Y, Z 2F e 2A[2¢
L=z <756

AZ F9l 25 -10 ~ 70°C, 2 A|: -25 ~ 85°C (24 = Z2E|X| %2 %)
A8 F9l &5 35 ~ 85%RH, 2Z Al: 35 ~ 90%RH (ZY £ 225X %42 %)
A ApS AWG24 (0.08 mm, 40%), B 2F: @ 1mm

Totempole, NPN 2E S2ilE{, T £2f: M17 6-pin A3UH
Line driver £21: M17 9-pin 221
01) B3 7% IP64 SM F20| 7H58iLCt (715 £3: = 0.078 N m, 24 RHIE: < 400 g-cm” (4 x 10°° kg-m?))
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